oS "ol A 274t ABC 9
WolE Fotd? (d, sind3® =
0.68, cos43° = 0.73, tan43° = 0.93
)

® 7.3 @ 1241 @ 16.58
@24.82 ® 49.64

B ~

AC =628,
BC=173

5 AABC = 6.8 % 7.3 % = 24.82




2. the 471ge Wolg Fehu? A

@ 7v2cm? @ 7vV3cm? 2em\ 135°
(@)8\/5(1112 @ 8+3cm? B ~-16em--~
® 9v2cm?

~&B

1
(Ho]) = = x 2 x 16 x sin (180° — 135°)

:§><2><16><sin45°

=%x2x16x\/7§:8\/§(cm2)




t}e 123} Zro] &= tjztAlo] o
E ABCD 9] ¥o]7} 36 V2em? & o,

@ 8cm @ 10cm @12cm

B

@ 14cm

® 16cm

1
xxxxEXsin45:36\/§

« V2 _ 56y
2

x2 =144

x=12 (cm)

x2 %

l\.’:l»—A




4.

th& 18 22 AABC 9] Hel7h 80 V3em? & W, AC 9]

Fafolat,
A

4ol

i

AABC = = x AB x BC x sin 60° = 80 V3

%xﬁx?Ox%g =80V3
80V3 _
53
C=/(3V3) +122
= V192 + 144 = V336
=421 (cm)

=

16 (cm)

s8cm” ~-12cm -~

~20cm--"~




QEZ I} Zo]l YR E A A4 30°
718012 Y-S 5m e7bA ¢ A - A
25 gojct 2 Zte] 27]7F 60° & o, U

Do golg Fatole. (, kol T4
ghe)

> m

> &HE: 10m

AH = 5sin30° = g(m)

.'.C_H:5cos30°:%§(m)
tan60°:£
CH
- 1
.‘.BH:CHXtan60°:%§X\/§:;(m)
= 1
AB—Aa+BE=2+2 -2 jom)

2 2 2




22 AABC 9] 0l 2 Fale 1}

A
134 AR Bolt} o2 + b2 9 P&
T-5HH?
B \3‘0 45/ C

--10--""
AH = he}ohd
BH =axh, CH:bxh

ol o}, BH+ CH = 100|222

h(a+b) =10
@ 2 @)+ ® 6 @ 8 ® 10

B

/BAH = 60°, /CAH = 45° o|2&
BH = tan60°x h, CH = tan45° X h
a=tan60°= V3 0|1 b =tan45° =1
a4+ b?=4




7ol Tsfofat,

120°

Ch
| — Y

>
I> b= 6

oHd =

~&B

AC=BD = x& stH %x2sin60°:9\/§,




4dol7t 12m 91 AE7t & 1™}
Zol HeA Qltt. A|H o 2 RE e
2 3744 9] ol h ©) & Fotolet
(T, sin37° = 0.6 , cos37° = 0.8 ,
tan37° = 0.8 2 ARt} \37°

c} -
H =

=

>
> &g 45 m

B

Aol Zo]7} 12m O] B2 AW o 2EE Hajzl 7o
ol2 ) o ob® 37 20| Zol 12— p o]k,
h=(12—-h)sin37°

=(12-h)x 0.6
=7.2-0.6h
1.6h =72 0|B& h = 9 4.5(m) ©]tt.

2




9. E}%J%ﬂ/ﬂﬁ%?&ﬂﬂ’ﬂo] PB =

gMoltt, /P = 30°,
PA = 8cm, PC = 12cm € W], AABC 9] Yo|&

sholat,

4

PC2 = PAxPB, 144 =8xPB
CH = 125in30° = 12X%:6(cm)
PB=18(cm) AB=18-8 =10 (cm)

(AABC 9] H°])=10x 6 x % = 30 (cm?)




10. o O"3 Fol & A4 A7 A A ok 1ABC = /BDC =
90° ,
(DBC = 45°, /BAC = 60° ]2, DC = 3V2cm ¥ W], A7 FEl
AEBC 9] Ho]&?

@ 6(V3-1)cm? @ 6(V3+1)em?
@9( V3 - 1)cm? @ 27(V3 -1)cm?
® 12(V3 -1)cm?

~&B

ADBC |4 BC = 1/(3V2)? + (3V2)2 = 6(cm)
AEBC A EF = x 2} 5tH

— — . FF
BF_EF_x,FC_taHSOO_«/ﬁx
BC =BF + FC °llA 6 = x + V3x
6
x=——=3(V3-1
V3+1 ( )

AEBC = = x BC x F:%x6x3(\/§—1):9(\/§—1)(cm2)

N =




